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General Instructions :

1. The question paper comprises of two Sections, A and B. You are to attempt both the

sections.

All questions are compulsory

All questions of Section-A and all questions of Section-B are to be attempted separately.

4. Question numbers 1 to 3 in Section-A are one mark questions. These are to be answered in
one word or in one sentence '

5. Question numbers 4 to 6 in Sections-A are two marks questions. These are to be answered
in about 30 words each.

6. Question numbers 7 to 18 in Section-A are three marks questions. These are to be
answered in about 50 words each

7. Question numbers 19 to 24 in Section-A are five marks questions. These are to be
answered in about 70 words each.

8. Question numbers 25 to 33 in Section-B are multiple choice questions based on practical
skills. Each question is a one mark question. You are to select one most appropriate
response out of the four provided to you.

9. Question numbers 34 to 36 in Section-B are questions based on practical skills. Each
question is of two marks.

il o

Page 1 of 12

www.jsuniltutorial.weebly.com



HIT-A / SECTION-A
L A wifes %AW fafay S T i e {1 SR ST S g w51 d 1

Name the plastid which gives red colour to tomato and purple colour to brinjal.

2 2m/s % A7 ¥ TREE 75 kg G & Al H G 1 811 €2 1

What is the momentum of a man of mass 75 kg when he moves with a velocity of 2m/s ?

[y

\3/ FE I fordt YA § =9E U w0 U% 72 § 30 m /s &1 A7 WG & od 81 3HHR &0
fRa1 82

A train starting from a railway station attains a velocity of 30 m/s in one minute. What is its
acceleration ?

y ered Ft difees sTaedl W - aieda w1 99 g § 7 Rt T e o o it 2

What is the effect of change of pressure on physical state of matter 7 Explain with an example
of a gas.

\5/ Yaa vom! ufefiformm S wot weifass sa 3 5y g s 2 2

How is striated squamous epithelial tissue different from squamous epithelial tissue ?

167 il & wer @ A w9 w1  da ® At S & men g @ T o G S g3 g e 2
HIFT |

What happens to the force between two objects, if the distance between them is doubled ?
Explain with the help of formula.

U ot qen fawmih fagoi § fades Fifew) 3
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et frgofi =61 waivt qen fawwid H anfiea st
@Hm o (i) fra g
(iii) & (iv) HEA

Differentiate between homogeneous and heterogeneous mixtures. Classify the following
mixtures as homogeneous and heterogeneous.

i)  Air (i)  Alloy

(iif)  Blood (iv)  Butter

frefiad % e % <1 TV 1 3eerd Ff | ' 3
@ @™ (b) =d @ =

State two properties of each of the following :

(a) a solid (b) a liquid (c) a gas

HATFeA Y aiter i | 3g fafy @ fFg wR & g9 (verd) gk R Sm R 3

Define distillation. What type of liquids (substances) can be separated by this process ?

FI1 T Uehel IR a7 €9 9 € Tehdl ¢ 7 Ia6W gl AU | 3

Can a single cell live independently on its own? Explain by giving example.

11 9 YR % WG Saeni | favea wifew) 3
Differentiate between the three types of muscular tissues.
J Wm%w,mamaqﬁﬁaﬁ?ﬁﬁmw: A, BIFIT CH ¥ FFaeT Sz ufas 3
BIRIT ? 19 3777 % A0AR | Feor ferfam
Which will have greater inertia amongst three balls, A, B and C filled with same
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volume of mercury, water and air respectively? Give reasons to support your answer.

@m.aﬁsows%aﬂ%mm%‘qﬂw%l egaA fag W z9et 37 fpam e ? g v fem 3
A q@ SO SR 3w favg 9% vged H 3 fRa 9Ha @i 2 (g =10 ms - 2)

A particle is thrown up vertically with a velocity of 50 m/s. What will be its velocity at the highest point
of journey ? How high would the particle rise ? What time would it take to reach the highest point ?
(Take g=10 ms—2)

TR ThfET 3 99 T W@ R Tl & %9 7 (A, B, C, D, ..., G) el & 41 7@ § ‘G’ | 3
THA T '

ACECP DB

L LR S e I A T

4-83-2-1061 2 3 &
et

(a)  39% BRI G I T g kT wifen |
(b) AR EE1s H U HieX F g0 79 H & A 9 G a1 9@ F i

Rahul while doing skating moves along a number line in the alphabetical order (A, B, C, D, ...,
G) and finally stops at ‘'G'".

A CE GFD

L . L] - L] .

i) i 1 | | i 1
T i L 1 T T L

-4 =3 =-2=-10 1 2
Meters

)

W -+e 3

(a) Calculate the distance travelled by him,

(b) Find his average velocity if he covers each metre in 1 s.

forelt og 1 4R Y=+t waE w392 N ¥ 39 T F 9K FFE TE W fEa e fowe geme 3
ges | SR e e yedt @ \R e

The weight of a body on the surface of the earth is 392 N. What will be the weight of this body on a
planet whose mass is double that of the earth and radius is four times that of the earth ?
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M%ﬂwﬁwﬁmﬁmml 50 g ® UH el H 4 kg H TH WHA H 3
35 ms— 1o YR 3 8 BTl ST 8 | UgEd 1 gfaamor 3 fraan m?

State Newton'’s third law of motion. A bullet of mass 50 g is fired from a rifle of mass 4 kg with an
initial velocity of 35 ms — 1. What is the recoil velocity of the rifle ?

2/’ T WUEE FUhk Fo Hifgard'’ T wlied 191 Fdfd HU wuE Sl Ty wlieT Ged 91 3
STt 574 AU FTe TEel FUF FI AU SAF G911 T FF W A 3K W I SHI A% &
e HHTOT ot B2 AT WIS 1 TS < S 39 S A ¥ A o

G)  ‘ifesre’ qun Sl TRl g
(i)  TROT GRI SCUE T TE A Gl AR U ded w1 § 2
(i) T AT Tl 1 Were o7 o ford s it gen g

An animal husbandry farmer went to buy few ‘Sahiwal’ cows whereas other farmer wanted to
perchase “Jersey” cows, which had more lactation period than the first one. Ramesh, the third
farmer, advised them to buy cross breed of both and which is better breed than the others.

(i) What are ‘Sahiwal” and “Jersey’ breeds ?

(i) Why the cross breed produced is better than the other two
breeds ?

(i)  What prompted Ramesh to advice his friends ?

| \1_8// SAEIF R T AY SE & fo1e 3eft fore 1 Aot ot orian el i A i gee WE W 3
& 7 =R o 1Y e i

The Italian bee is better than local varieties for commercial honey production. Why 7 State the
meaning of pasturage.

19 &1 arg ¥ fafve A9 #1 f59 7R 9ra o 96d €7 9hRa & =il & evi % fan yew sma S
wifam |

How can we obtain different gases from air? Draw the flow diagram to show the steps of the
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process.

W& FE 2 fraear & 9 S YSE S % qE9E Te | TgE & 9% 59 9% 999 o9 e 5

T W & q9HE T8l sgeal 81 wRvl fafae |

FISHEFTOT I [ SO 1 AT fafE | Iaer gen S AgE W H | R Sed S dte
Aftreh HegH Bl © agn i 7

When a solid melts the temperature of the system does not change after the melting point is
reached even when we continue to supply heat? Give reason.

Define latent heat of vaporisation. Which will cause more severe burns boiling water or steam
and why?

A~ SRA F1 ARG S Wi FeE § 9§ Al 9] sfaadl & G5 fafea) dee 6 S

Hest # e qur WALy & i g d@ fafen |

Draw the labelled diagram of a section of phloem. Name the four types of elements found in

phloem. With respect to conduction, what is the main difference between xylem and phloem
?

(a) I WEfEe A I AEE 20 m/s F1 A Y T @ &, T& b il @ AL HISWEIFA 10 5

H T w2 @utﬁﬂﬂﬁﬁmﬁmwﬁswsﬁwﬁwwﬁaﬂtaﬁw

Hrexarstne #1120 s § % o1 81 SHi HIeEER %1 He-9HE WE Witae | Uk § T qFi
HeEEfed § § ®F | A =l ?

(b) % GEfFe Tar R gaeR T W yes 31 A ¥ 3uh IRl o UE Feet o €
3fe gemehR ¢ T 52T 110 m & o AEfhet Far i = i1 giwed Hifse |

(a) A motorcyclist riding motorcycle A is traveling at a speed of 20 m/s applies the brakes
and stops the motorcycle in 10 s. Another motorcyclist of motorcycle B who is traveling at a
speed of 5 m/s applies the brakes and stops the motorcycle in 20 s. Plot speed-time graph for

the two motorcycles. Which of the two motorcycles travelled farther before it comes to a stop
?

(b) A cyclist goes around a circular track once every 2 minutes. If radius of the circular
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track is 110 m, calculate the speed of cyclist ?

%}2%" (@) I HE T Yo TeromrEren a quia; o st § € el ¢ 2 STE N WE i) 5

(b) TF TR 9 F A A F -9 q0F WA -9 U 1 9 & sviigd S Ry
T FHFS 9% T IR Sa 2

(@) Can a body exist in a state of absolute rest or of absolute motion? Explain. With

example.

(b) Draw a velocity-time graph for an object in uniform motion. Show that the area under
the velocity-time graph gives the displacement of the object in the given time interval.

2,/ (a)  8d WEHI qdT g&q dvehi § 3wl adl WEl §R STavash AT 4 TER W faved 5

Fifeg |

(b) W= R M Al W weq W a1 e e # A Ft
)  AREN ay 5w
(iii) FW (v)  refeEm

()  wEEl # 39 Yueh 1 FH! fFH FER wiERE €7

&a)/ Distinguish between macronutrient and micronutrients on the basis of
(i) their functions (i)  amount required by plants.

{by" Classify the following elements as macro or micronutrients in plants.
(i) Nitrogen (11) Zinc
(iii)  Copper (iv)  Potassium

\(9)/ In what way deficiency of these nutrients harmful to crops ?

-9/ SECTION - B

e 35 T el o9 = a1 s T ae B 1
(a) BRI I GBS (b) T
(©  TEe &

Metanil yellow is adulterant of food material :
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(a) Turmeric powder (b) Pulses

() Spices (d) Seeds

26, i e e i e A A, v mm A 1
() T @l ¥ S & T 6 $9 q it |
(i) W@ el H HE HCl ) $9 da eifed |
(i) 9@ Tl H 10 mL S 2lferd |
(iv) T & 9o =81 e e w faemsd |

H‘é} FAR:
(@ (@), (i), (i), (iii) (b) (i) (i), (iv), (ii)
(€) (1) (), (iii), (iv) (d) (), (iv), (i), (i)

Given below are the steps that need to be taken to test presence of metani! yellow in dal. But
these are not written in correct order :

(i) Take a small amount of sample of dal in a test-tube.
(i)  Add few drops of conc. HCl into the test-tube.

(iii)  Add 10 mL of water in the test-tube.

(iv)  Stir the sample in water by shaking it well.

The correct order will be :

@ (), @), (i), (i) (b) () (i), (iv), (i)
(© (i), (i), (i), (iv) d) () (iv), (iii), (i)

gz/ S T 1 Do 99T Fow UISST F1 901 JaR foman wan A R # Sem %1 1 foar 3 1

(@) TR T H () (b) FB-FT A
(c) RIS| d) =

When a mixture of iron filings and sulphur powder was prepared, it was observed that the
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colour of iron filings is :
(a) greyish (b) reddish

(c) yellow (d) green

28/ w9/ TG | e T ¢ oo URel # fasm ofifee | qudt are e # e ool qur gew 1
st & HHu il T FE  UvEd g wien 9o yeel w9 ° ifse g <l Wik @i

&Nmﬁﬁ L

(@) g ol dun T WSt WM v A € SEfE Ueel R I S HewEe T Hel
Teref faemit 21 |

(b) g ool qen wewt et & fagn fawHi & S e gewe wwi )

(c) HEIRCI

(d) < fand €

Take a mixture of iron filings and sulphur powder in one watch glass. Take powdered black

mass obtained on strong heating of iron filings and sulphur powder in another watch glass

and observe both. You will find that.

(a) Mixture of iron filings and sulphur powder forms a homogeneous mixture while black
powder of iron sulphide is heterogeneous.

(b)  Mixture of iron and sulphur is heterogeneous while iron sulphide is homogeneous.

() Both are homogeneous

(d)  Both are heterogeneous

&y A a s wehe & e ¥ ol e 6T WS S R O R g 1
() CuO 6 v <)
(©) Cu (d) CuS

Reddish Brown deposit obtained on iron nails when kept in a solution of copper sulphate in
water is that of :

(a) CuO (b) Cu,O

(¢ Cu d Cus

}/’ 3T A WG FUIA HIYH aG TS S Al Hi HIRH & 91 H 94 T4 Ao GRoleg 68 AR
A HAEAUE @ femng .
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FHIS HUIA FHIHT | @S Y e
(i) 57 TeTTs Aren
(if) = 3qfeed 3qfeem

(iii) T FeHfem | Fod e
(iv) IR fafa | srqufted 3ty

I W&UT H i § < Y& el @
(@ () (i) (b) (), (i)
(© (@) Gv) (d) (i), (iv)
Anoop tabulated his observations about the cheek cells and onion cells as given below :
Sl No. Cheek cell Onion cell
(i) Stain Pink Blue
(if) Nucleus Present Present
(iif) Vacuole | Centrally ::'Few, scattered
located
(iv) Cell wall | Absent Present

and showed it to his teacher. Two of his observations were wrong. Which ones are they ?
(@ (), (i) (b) () (iti)
() (i) (iv) (d) (i), (v)

!

31
(//E/\JG *
s i e
i " ,',Q-'.-_ e

-

et Fifereht & Tk @e 1 o < 7§ fae A7 &1 we amie ©

(a)
(c)
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Part of nerve cell has been drawn here. The correct labelling for ‘A’ is :
(a) cilia (b) flagella
(c) tentacles (d)  dendrites

az/ w fagu § ayEfed, sTftan saee qu a1 faeme 1 Faa amife a9 smiffm iR 1
FATfad 9 €1 el e FEA SgEEe § qereie 81 i el e Ry yR
g% T ? =00 1 A BT :
() aa%a‘wmaﬂﬁiﬂ%am‘ém
(b) e LIRS ST, I, Sea
() THeEuRH, Std Srerl, e
(d) aTodteRTY, ATHEH, fREelEnt

" A mixture contains iodine, ammonium chloride and sand. Only iodine and ammonium
chloride sublimate. Only iodine dissolves in carbon tetra chloride. How will you separate
the three components ? Sequence of steps will be :

(a) Sublimation, addition of CCls.
(b) Addition of CCls, filtration, sublimation.
() Sublimation, addition of HxO, filtration.

(d) evaporation, distillation, crystallization.

iy R 1 SI W1 © 1
@ ™ (b)  fTercmam
(R (4 R
The SI unit of weight is :
(a) gram (b)  kilogram
() Newton (d)  Newton meter
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e difedd FEES AR 9 Sel & 9y famgd feu mw ¥ foa 9@ s o § e faden
e weR S ?

You are given aqueous solutions of sodium chloride and chalk powder. How would you distinguish
between the two without tasting ?

S F FEAGAS T FH F FE A Al SH el S §E qeuifTal 1 3o aifeu)

In an experiment to determine the boiling point of water, mention two important precautions
to be taken.

fordll o 3 gul fFvfael #1 57H 6.0g fisle fhan @ik @ e wR 02 W § fan
% vEE fEuiRl w1 F=EE 10.5g 9 fEafhel g sEvifyd s@ #1 sfavea ofefea
Fifow  frvfe B i wd €2

A student recorded the mass of dry raisins as 6.0g and mass of raisins after soaking them in

water for about four hours as 1U.'E';'g. Calculate the percentage of water absorbed by raisins.
Why do raisins get swelled up ?

-ofolalo-
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